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44. Bean Bag
The children played bean bag. They marked a
Iittle circle, a triangle, a square, and a big circle on
the floor Like this. Each child
threw four bean bags. A bag in
the big circle outside the square
counts 0; a bag in the square out-
side the triangle counts 1; a bag
in the triangle outside the little
circle counts 5; a bag in the little

circle counts 10. They added the
four numbers to get the score. The pictures show

where each child threw the bean bags. A little black
square stands for a bean bag.
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i 230 95. Review. Graphs and Diagrams

1. Copy the line shown here and draw
beside it a line 8 times as long.

2. Copy the square shown here and
draw beside it a square containing
8 sq. in. Use 25 or 2.83 as the
square root of 8.

3. Copy the cube shown here and draw
beside it a cube containing 8 cubic
inches.

4. A man showed these
two pictures a few
years ago to make
people believe that
the number
of sailors in
the British
navy was

really very, American Navy BﬁtN“y

very much 99389 men 150,609 men

preater than the number in the United Statesnavy Why do

his pictures tell alie?> (The numbers with them were correct.)

5. A man showed Picture A to make certain people think that

their wages were twice as high in 1915 as in 1910. Another

man said, ‘* By your own figures your picture lies. It should

t be like this,” and drew Picture B. Which picture is

correct? (The numbers are correct in both.)

Picture A Picture B
In 1910 In 1915 In 1910 In 1815
Size of pay check Size of pay check

812 08 $18.12 $12.08 8$18.12
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B e e .
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9 ut;jﬁjjif;aﬁsf,v/u]:-ﬂiliﬁn;rjﬁﬁliiij[ﬁ?ﬁ
7o B2 2 5 :!—-g—ﬂn 283 2 e 3,
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YOMANM I AN A = 1954 ) B 1908 ) =i F 7 v 2
PR XTI PR YFAXYOIE IR AR s AVE
R MBEY>7Ba, 39FF 275155+ 4"r 5B, ¥
PFrBMIR 2, FF3H5F >4 2,

19104 19158 19104 19154
52 B VE. 53, EAEIVE.
12.083% 18.12iff3 12,088 18.123p
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NUMBER FOUR IN MULTIPLICATION AND DIVISION 45

Add each column from the bottom up; test answers by adding
down:!

2. 3

I W Q0 W oo o
I A N U
[ i DO
I S
(1 ST NEJURTN
Pl b OO
| QO W =
I TN

S R T

23.

| W 0 W 0O W G0
L DO W D W D
| CO DO W DO W 3
| &9 €O W 00 W e
| CO W O W W
| DO GO0 W DD GO M
| GO W OO
L Sl VL VU ST

39. The Number Four in Multiplication and Division

Q Q0 00 Q0 A0 00
gﬁ? DO 00 A0 AN A0
QN OO0 00 A an a0
0N 0N A0 AN AN an

[Without pencil.]

1. Play you are a blacksmith.
Make statements like this: For 2
horses I need 8 horseshoes.

2. Count the horseshoes above by fours.

' Pupils should form the habit early of testing answers in addition by re-
- versing the order of addition. |

4= 5 FE A+ = b (g;gn"ﬂ){:}

Ly O]
BITZ2F /7 HaIM~Be3. EaIT=amM~7%578 ¢
2=. 23, (XKA*»JF722=E+87)
3 VMA=FERBANI P
(> He Xa)
1. BRERY > Hes 2994,

B2B=rDECO258 Y I b4 7% 9 =26 F 4+ 4,

1<
'

PEUCOFIAYI IR T H~FTIE T ¥ 4,

3. RKRIKIEFI 4 e+ 4,

S =7 F»n— 4 FEIFNn— Ixi=? Tx4=9
SAFTn— S ¥R Frn— 3IxXi=9? 10 ¢ 4=9
ET=ZYT1rn— A FTRIF— 2x4=9? Sx4=9
ETRIFTn— 4 4 FnH— 4X4=9 11x4=9
X RIFIH= 4 Hf—=Fon= Gxi=9 UxXE="9
EVRZ?2TF v, W= Frnm BXimP =D

A #HCOfH?VNMH/m;H?:}fm*»ﬁC

e DB CDICFTF Y

-

= 2B
ﬂ.i’:\ﬂ:idﬁﬂ?“ﬂﬂ#;l\vﬂ5_[‘,-‘-'-“%”)
Wl 7T 7 r e -L Y ) A 2 ¥V P »HTxd= FAHAEK
7 AXT ' RBERH ) LBy 2YF B 2,
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_ [With pencil.]

1. For doing odd jobs about their home, a boy and his sister

are each paid 15¢ an hour. At this rate, how many hours will it

take them, working together, to earn money enough for the pur-

chase of 4 tennis rackets at $2.25 apiece and a tennis net that costs
$1.20?

2. To earn money for a set of histories, two brothers started in
the chicken business, using an incubator. They bought the incu-
bator for $8.25, 25 dozen eggs at 50¢ a dozen, and 30 gallons of oil
at 12¢ a gallon. To how much did these expenses come?

3. Of the eggs bought, 250 hatched; and the chickens, when three
days old, were sold at 12}¢ apicce. The boys sold the incubator
second hand for $4.50. How much money did the boys make?

4. The boys bought 6 Listories at 75¢ apiece. After paying for

the books, how much money did they have left?

5. Two sisters decided to raise chickens. They bought 3 hens at
75¢ apiece, 3 dozen eggs for setting at 60¢ a dozen, lumber for $2.60,
and 20 yards of wire netting at 15¢ a yard. How much did it cost
the girls to start in the business?
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THE ALERT ARITHMETICS.—BOOK 1.

If the whole candle
was |5 iches long,
how many inches
have burnt away ?

Each girl gets 3
nuts; how many
nuts do | need
for them all?

How many times
older is the grand-
father than the

grandson ?

If the boy runs
night round the

field, how many
yards does he run?

25

THE ALERT ARITHMETICS.—BOOK 1.

.) A box contains 9 red, 36_ white, and O blue

candles ; how many in the box ?

i(-?) OO nuts are shared equally among 5 girls ;

TEST
41.

how many for each girl ?
(3) Mary is 18 years old, Jane is 6 ; how many
years older 1s Mary than Jane ?
(+) A boy runs twice round a field which measures
27 yards round ; how far does he run?

-

(1) 8 inches remain of a candle which was 17

inches long ; how much has burnt away ?

(2) 19 girls receive 3 nuts each; how many
TEST nuts are shared among them ?

42. {(3.) Father is 55 years old, his little girl & yrs.;

how many times older is man than girl ?

() A boy runs round an oblong field with sides

15 yds. and ‘7 yds.; how far does he run ?

(1.) Mary sold 13 candles; if Jane sold 4 times
as many, how many did she sell ?
(2) Mary ate O out of 18 nuts; how many
TEST nuts has she still to eat ? |
43. |(3.) Father is 27 years old, mother 23. baby
2 : how many years in all ?

(+) How many 2-feet steps will a boy take to
cross a garden 54 feet wide ?

(L) Twice 28: 4 times 15; 4 times 14.
TEST (2) 88 + 2; 66 - 2; 52 + 2.
44 (4126 +24+7: 22+28+86.
(4) Make a square with each side 1 unit in length;
make another with each side 2 units.
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How many rows,
placing 7 in a row,
can | make with

these shells ?

T —

Find the value of
/ yards of this

velvet.

28
2675 73=F 79A2FIV2X—% 1 S < |
(1) | * S I D) HB=AE° Q3. TR r>e > 20 @i 2th= 0
i By ¥ 7,
15mf > 5 % (2) MRS 2S5 =8T > vii— \=fl8,
Rz ) n oA58 (3) r)‘""]J**lSj',r;t_;z-—}"nb—"j-,,-tr){_,l,,ri?
’{i:ﬂ;j';bt_ o TR YRPIEL N,
| (%) FRyrAME B> 2KE My > 922 Fr x
rEvaIo
(2)| F7rk= | CL) 170 R4 2 i@ Ents2 > s Bnfilniil= 2 9,
Al © R : (2) A7 DEYENRS > B2 > 2vBo¥5s 3
| 5%7}3‘1% TV ™
’ :;}i; 42 (3) WIS A 2 deB 4 A5 TR 2FE LR WS,
| 7 IR A e (4) T 0 BEI5E, W76/ M Rap > M 2 v ¥
# ¥, vEyELY
(3) | AF1 9>~ () [ 2= J-ROAR I Oox—2 j#ry 2 4 EWY x
JEENER ) F I oz— KT 2 H,
S IS | B |2 Ty IS S SR a, kR R T
e 45 1 BT
(- Q) RA27H, rBA AR 2477w, B7WA Do
L - (4) Fkw BB 7 SR | WP PBTEL D o
(%) ‘ = ) F | (1) 23021, 150 4%, 14/ (a4
fud Efggl‘ AER I{_‘Z) 58+2, 5642, 524-2
| PSR | 4 J(3) B+2447, 2242846
| i:flgt | l(") ISR 2 EESHE=TEv,

|

mwEIIRE W 2 TreEs s geans B ang euil s

How far is the

first from the third
lamp-post ?

R RS (1) (2 () () ~MUA(ES,PH0) /T 72808 424344, 1 BH (K

B2 /) B77 g

If I buy these

groceries, how much

change shall |

receive out of

14s. 105d. >
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THE ALERT ARITHMETICS.—BOOK IL

(1.) A roll -of c]oi:}-;, wortift 14s. 81d., 1s sold
for 3s. 5d.; how much money is lost ?
(2.) Find the value of 6 yards of velvet at

TEST 3s. 11d. for each yard.
29. |3) No. 1 lamp-post is 87 yards from No. 2

(1) | 2%, A7 (1) —@14EEIN 1&?3$5»9'!?r;ﬁ-:ﬂ)ﬁm _
~W =7 R (2) 13EUN 2T v o — F S 2 (Ui,
WlElZ Ml | o9 O M-EMIB=HR NS B0 R=
LUNE T M SEETy v, I AR BT 2ER MR
| N} 13641 5 .;Bmkz iu: azﬁm#to

Noﬁz {sf58 3{&15. gom No. 3; how far (2)| #g2 [€w | (1) 1512 g+ % F7 2 W< kT R A R |
18 No..1 from No. 3? ~ F] 72 7§% 1(2) 1354 2T — K 4B =MIVE ran ) F
(4) 1 How many 8-lb. parcels from 136 lbs. ? IPAFR | oy | VEFTra9c |
| ; o o G725 1—27 -8 =524 2 o X
(1.) 161 shells are placed in rows of 7 each; =0 m?_”:“my; M? E2 KRR b v x 24 [l
how many rows can be made ? (4) SSHEE) MY 7 A =76 ) KA A v o DKy H
(2.) Some velvet worth 13s. 91d. is marked 4s. T i
TEST Bd. sale price; how much is it reduced | e |
’ 3 y (3 g—-)ﬁtﬁ' (1) 49 >4 =i~ »t . '
(3) A lamp burns 4s. 21d. worth of gas in a ) niﬂ"!%l | :_,,,/H TR g e R |
week ; find the cost for 4 weeks HE 2 ;
ol : 5 Fv | (2) —®141%7 [va=F] 98 1.
(¢) A box, weighing 58 lbs.,, has 76 lbs. of o -?fln ) Lo ETHRY T v ],
tea put into it ; find the total weight. B, B) =92 (957 =il W EIOME 4 14505 = 7) |
(I) 490 shells are put to a heap of 98; how 4"'%8" ”’5' ’;“"” TirBE> 4 e, ’
many shells in the heap now ? | () AR—A /RS8R 7 I ~ARA=Y 7 RER
(2.) How many 8-yard lengths of velvet can be (%) ﬂﬁb ;ffﬁ | (1) T3+25+47, 68+49+36 |
TEST cut from a roll of 141 yards ? 101 . SRR J(2) 1388 — S, 14ENIE k2, |
(3.) One lamp costs 14s. 10}d. for oil,another Ss. 35~ ;;ﬁﬁ = &SIy — 783N
8d. How much more costly is the former? PR, (3) 132"' x4, 31"-"’: <6, B3N %2, J
(4) A parcel ?f grocer;es t;‘ast.s Os. 31d.; : find the E® Bb(1),(2003).(0) 275 (K% 2 2050 2 787 RH29,5),31,32 BHGER /21
cost of 3 parcels o the same value. Sk

[(1)73+26+4'7 68 + 49 + 36.

TEST|2) 18s. 81d. —4s. 5d.; 14s. 113d. - Os. 2d.;
11s. 93d. — 7s. 3d.

(3.) 3s. 2}d. x 4; 38.1}d.x6 8s. 3id. x 2




THE ALERT ARITHMETICS8.—BOOK VI.

Exercise 96.

(L) How many yards of paper 18 in. wide will be required to paper
a room 14 ft. long, 12 ft. wide, and 9 ft. high?

(2) A postage stamp measures ; n. by § in.; how wany way le
stuck on a board 7 ft. long by 6 ft. broad?

(3.) It costs 41d. to pave a sq. yd. of a road; find cost to pave a
road } ml long and 37 yds. broad.

(4) A page of a book is 6 in. by 4} in.: it contains 64 pages;
what area of paper do all the pages cover?

(3.) How many tiles, 8 in. sq., will cover a floor 18 ft. long and 12
ft. wide?

(6.) Find. the amount of cloth it would take to cover a cubical box of
B} ft. edge.

(7.} How many bricks, 4 in. by 8 in., will it take to pave a walk 12
ft. wide and 200 ft. long?

(8.) A room, 21 ft. 8 in. long and 16 ft. 6 in. wide, is covered with

carpet 27 in. wide, costinz 5s. Ojd. per yd. ; find total cost.

Exercise 97.

Copy and approximately measute each of
these shapes, and, state the awea o
cach in square feet

31

BB 73=F PVRXFYDR—% VI %R

i
J

® ¥ =® %
(1) e v HIREI12m55 4 9 mg;fg.f+-}ﬁ;p;ﬁi]$p;})ﬁ{u]ﬁ
P2 N,

(2) BRSO BEUT 7 9. f2e T w6 R R = |
P 9 o 2 2, |

Iﬂ ﬁﬁi“%ﬂﬁlﬁlﬂﬂ4;??&ﬂ T S |

S HB =TI P MR s

(4) &7 —HN M= 4 077 a4 s hr Fovws
2T Z 7290,

(8) 1y BIREEI2M /K 78& 7 + Snpgvy » I o] 4L # E R
&b,

(6) ~ W/ RS MI T HW ) i 2H 787 B s Ko
fil 2. |

(7) W 12w, 9 200 R 7 BB =+ YA 2 = 4p§ =
SPf ) MMM 7 RAr .

(8) & 20058 MEMEI6IR 6 RF / % = G2T0E /(€ 0 — Fl7 B
2 =B AV BT RS b a,

2 2 a v |
%W*E&TXE29MQa%!ﬁﬂ?ﬁﬂm:fi«;
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Exercise 98. - ) 4
A1 No.l Sl : e 3
X (1) When £48 is added to } of (1) Nol ) =B8WrmsvreNods 2 4 3nrorghs
No. 1 the amount equals E A

of No. 1. Find £x (2) .No.2 )——%n No.2

(2) §of No. 2 is greater than § of '
No. 2 by £8. Find £y.

(3.) ¢ of No. 3 decreased by £24
is the same value as 3 of
No. 3 increased by £120.
Find £=.

(4.) 3 times the valve of No. 4, less £114, is the same value as
8 of No. 4. Find £n.
Y 1) 3 of No. 1 increased by £10 is the came value as { of No. 1
decreased by £10. Find £x.
(2.) Twice No. 2, less £80, is the same value as § + § of No. 2.
Find £y.
(3.) 2 and ; of No. 3 together value £259. Find £=.
(4.) 66% % of££o. 4 is worth £2'7 more than 16§ % of No. 4.
ind

1 :

5"3 V) bﬁ£ Yo -"H:—":R-z'c

3‘ - . ';' . & & - = 2

( No.3 ,_?%3 ) 24 85 0k > v o Nod )= 120 5% » % >
2vEZ2F 0, 55 7R 4,

| 4 Not ) Sfray 14 B4 £ s :s'...4;_;"'_f_:.gg,t
"ﬁ?ﬁ‘kl‘a |

34 L ° ! ,
1{1) .\0.1) -:-;-——‘:-IOHIE"{:;{}LL]).?_:Q5]{}ﬁ;iﬁ$:ﬁ{)
}gs’?*»a -“ﬁ?;‘kéc
9 > 3 5 : o 3
(2) No2 3 9 SOEE 4 %+ = 2 No2 ) -l_}‘ ' F 2R F T on
P’J‘ﬁ"{ﬁlﬂﬁg
: = )

0
3 ‘ N .: '; L LT Bt -
( ; L ;} “T_j— b '—H‘“- } J m % 259 E’ « A Jpc‘

: a3 : 2
| (4) Nod » 662 1 No4 » 1023 YV NG & >0 n g
M‘Wn

Exercise 09. X(1) X 2 ¥ 5 9
X (1) When 40 7 of No. 1 has run ‘ ~No.l 7 4075 7 No.2 = & VAI)5¥N02 ) B FEE 4157 B,
inlioNo./Q,wha.tfrwtionof b AT RE
jodirih g No. 2 is still unfilled ? (2)
TANKS

e w9 2 a7 220([x50 o)+ 5 ol CERPAVE- -
mfifx 4 > da, |

(3) 1[#HF = =] 10 [ >~ F|, B 7P 21,3 Nol 7K

@) Given 1 Kl = 220 gals,
find total capacity of both
tanks in pints.

—

ﬁ (3.) Given 1 gal. water waig:lb:l(% No2y K3 9 [ > FIF 4 ¥ J
é I:::&:M::ﬁ“:n{t::ﬂmN& ;? (#)  No2 ¥ Nod » KTz ¥ v 72 Nol = v} fol[ »¥ 4 |
: (+.) How many pints of water still AR PR~ 2o

remain in No. 1 when No. 2 has been filled from it? Y(1) No | |

0 i 2 s
Mo.l )LT—-" ‘\U.-}‘}Tl‘ /7 /ﬂ'}[y 4 I‘)LJ:‘"? S | ™~

(2) #2[2 > 2Inp=v J[ >2)2 K783y =239+ |
"I MBS AR, DI IR 2 BRAD £ 5 g |
“ T 9T i,

(3) No2 , 7 & 7 Nol, % L QO LY - SR B

(4) B2 > 2|2 TEMY * » K/ 4§ eSS IR OP

i —
—
et

Y (1) Express in litres { of No. 1 + § of No. 2.
(2) Another tank contains 2-397 kilolitres more than thess two
tanks together ; how many centilitres in all the 3 tanks!?

(3.) Express the capacity of No. 2 as frac, dec., and % of No. 1.

(4) Find the capacity of the largest vessel which measures each
tank exactly.
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